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Solve each proportion
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Solve each equation for the indicated variable
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Sketch the graph of each line
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Find the length indicated
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1) g=6x.forx 2) u=2x-2 forx

5) u=x~k. forx 6) g=c+x.forx

8) g=xc.forx
9) 12am=4.fora 10) -3x+2c=-3_forx
11) am=n+p.fora 12)":%}‘”

13) a-c=d-r.fora 14) xm=np ., for x
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15) z=b+2 fora
a

17) g=b-ca.fora

19) 2x+4=xg. forx

21) g=

23) u+ka=ba.fora

25) u=3b-2a+2.fora

27) g=4ca—3ba.fora

29) 4x=—4r+2d forx

16) g=x—c+y.forx

18) g=ca-b. fora

20) g=222 fora
a

22) wm=x+z. forx

24) u=k+yx . forx

26) z=9a-9-3b_fora

28) Ba-3=-2n+3p.fora
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1) 7x+y=5 2) 3x+5y=-5

4) 6x+5y=20
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7 xey=3

9) x-y=3

8) 10x-3y=15

10) y=0
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Points A, B, and C are collinear. Point B is between A and C. Find the length indicated.

9) Find AC if AB=16 and BC=12.

10) Find AC if AB=13 and BC=9.
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Points A, B, and C are collinear. Point B is between A and C. Solve for x.
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Name the vertex and sides of each angle.
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Draw and label an angle to fit each description.

9) an obtuse angle. £Y 10) an acute angle, 2ZJIH

11) aright angle, 23 12) a straight angle, ZCDE
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Name all the angles that have ¥ as a vertex.
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1) Find mzKLM if m2KLB=26°
and m2BLM = 60°.

3) m£GHC = 60° and m2CHI = 104°.

Find mGHI.

5) m2FMN = 99° and m2LMF = 36°.
Find mzLMN.

N

7) Find m2JKL if mzSKL=31°
and m2JKS = 52°.

]

2

9) Find mzKLU if m2ULM = 20°
and mKLM = 110°,

i

2) Find mzFGH if m£FGB = 105°
and mzBGH = 54°.

¥y

4) Find meWVU if meZVU = 62°
and mWVZ=50°.

Vi

6) Find mWDC if m2EDC= 145°
and mZEDW =617

8) Find m2IHQ if mZIHG = 176°
and mZQHG = 130°,

10) Find m2IIA if mzAJK = 61°
and m2IJK = 153°.
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11) mzHGF = 163 + 4, msEGF =
and mzHGE = 3x+ 11. Find x.

10°,

13) mFCD=x+41, mBCF=x+78,
and mzBCD = 95°. Find x.

15) msGFZ = 38°, mZFE=2x +125,
and msGFE = x+ 163. Find x.

17) Find mzHIW if m2WIJ = 10x,

meHLI = 145%, and msHIW =2x+ 13

J

19) meZHG = 11x— 1, m2HZ=24°,
and mIHG = 12x + 13. Find m2IHG.

e

12) mVUT = 175°, maVUI = 17x- 3,
and m2JUT = 17x+8. Find x.

14) Find xif m2BJK = 146 + 2x,
mJK= 1727, and mLJ1

20426,

16) Find xif m2LMN = 135°,
mZLMV=—1+45x, and mZVMN =23x.

18) mABC=17x + 8, mZABK = 42°,
and mKBC= 12x— 4. Find mzABC.

20) mGFN= 4x +10, meNFE = 14x+3,
and m£GFE = 157°. Find mzNFE.
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Identify each pair of angles as corresponding, alternate interior, alternate exterior, or consecutive interior.
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Find the measure of each angle indicated.
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Solve for x.
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Find the distance between each pair of points. Round your answer to the nearest tenth, if necessary.
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Find the distance between each pair of points.
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1) ~20=—4x- 61 2 6=1-2n+5

)] {0}
3) 8x-2=-9+7x 4) a+5=-5a+5
15 {0}
5) dm—4=4m 6 p-1=5p+3p-8
No solution. a}
7) Sp-14=8p+4 8) p-4=-9+p
{-6} No solution.
9) -8=—(x+4) 10) 12=-4(-6x-3)
{4} {o}
1) 14=—(p-3) 12) (7-4x)=9
1 4
13) 18- 6k =6(1+ 3k) 14) 5n+34=-2(1-7n)
11 4
15) 2(4x-3)-8=4+2x 16) 3n—5=—8(6+5n)
3 -1}
17) {1 +7x) - 67— x)=36 18) —3(4x +3) +4(6x+1)=43
8] 4
19) 24a-22=-4(1 - 6a) 20) —5(1 - 5x) + 5(-8x~ 2) =—4x - 8x

No solution. {-s}




image21.png
10 _n 7 x
1 _n »l X
) 8 10 )5 3
{125} {42}
9l L
n 1
{6.12}
4.8 7 10
R T
{6} {-15}

{5.66}




image22.png
13)

n+

{466}

p+10_8

1)

=79
{-146}

19)

<l

neg

{10.19}

9
12) —
) =7

=0}

=lo

14)

{-6}

=9 r+s

{32.33}

16)

2_n+4
18) =
8 -4

{-6.66}





image23.png
1 g=6x.forx

5) u=x~k. forx

x=u+k

9) 12am=4 fora
1

a-—

3m

11) am=n+p. fora

n+p
m

13) a-c=d-r.fora

a=ced-r

2) u=2x-2.forx

6) g=c+x.forx

x=g-c¢

10) 3x+2c
243
3
12) u=== fora
b
)
k

14) xm=np_forx

w
m





image24.png
15) z=b+2 fora 19 g=x=cxy. forx
a

x=g+c-y
17) g=b-ca.fora 18) g=ca-b.fora
—g+b LoE%h
o B
19) 2x+4=xg. forx 1+2a

20) g= Lfora
a

23) u+ka=ba.fora 24) =k yx. forx

kb
25) u=3b-2a+2.fora 26) z=9a-9-3b_fora
—u+3b+2 JREETES )
2 9
27) g=4ca—3ba.fora 28) 3a-3=-2n+3p.fora
g LB
Tac+3b 3
29) 4x=—4r+2d forx 30 =82 g
“2red

2





image25.png
1) Tx+y=5

2) 3r+5y=-5
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Points A, B, and C are collinear. Point B is between A and C. Solve for x.
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Name the vertex and sides of each angle.
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Name all the angles that have ¥ as a vertex.
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1) mHGF = 16x +4, mEGF = 110°,
and mHGE =3x+11. Find x.
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Identify each pair of angles as corresponding, alternate interior, alternate exterior, or consecutive interior.
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Solve for x.
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Find the distance between each pair of points. Round your answer to the nearest tenth, if necessary.
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Find the distance between each pair of points.
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